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Problem 1.

[a] (6%)
[b] (8%)
[c] (8%)
[d] (8%)

Problem I1.

Consumption Choices (30%)

Consider the following consumption decision problem:

max
C1,02,

u(c1) + Bu(ca)

a+S=y, »>0
ca=y2+(1+1)S
B and r are given

s.t.

Assume that u(c) is strictly concave and strictly increasing in c¢; moreover, u(c) is twice continuously
differentiable. Let (c}, ¢}, S*) be the solution to this decision problem.

Combine two budget contraints of#0 perio@ssinto the life-time budget constraint. Explain the
result you get.

Derive a condition under which ¢; = ¢a.

Explain your answer*ifi [b].

Show that when your condition in [b] holds.and 3> y2, S* >0,

Consumption Choices nnder Uncertainty (30%)

Consider the following consumption decision problem:

u(cy).+ B0.5u(com) + 0.5u(car)]

eSS =yp=0m y; >0
c2i=y2 H(1+18)S,
o=y €+ (LH7)8, BE= O
¥1,¥2,€, B} and r aze given.

max
€1,C2H,C2L,S
S.t.

Assume that u(c) is strictly concave and strictly increasing. in ¢; moreover, u(c) is twice continuously
differentiable. Assume that. y; =y = y..

[a] (5%) Is the solution of S.the same as the one in Problem I? Why?

[b] (10%) Explain how changes'in, £ “affect'the selttion 0f'S:

[c] (15%) Can insurance replace the role of savmgs 8)? Explam your answer.

: ring the question.

CEELEE Y

efitie insurance before answe:
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Problem III. Use dxagrams to illustrate the following statements (40%)
You need explam clearly your dtagrams to obtam the full:: scores
Dzagmms wzthaut any: explanatwn will be: gtven zero-as.the score.

[a] (15%) There are two consumption goods, X and Y, and two agents, A and B. Both agents’ endowments
are (wg,w?) = (10,0) and (w?,wf) = (0,10) respectively. Both agents have the same

z> %y
utility function: U(C,,C,) = C, - C,. Both agents can obtain mutual benefits if they trade
with each other.

[b] (15%) There are two consumption goods#*X and.Ye.andtwo agents, A and B. Both agents have the same
endowment: (w,.w,) = (10,10);but have different utility functions: Ux(Cy, Cy) = C, - Cy and
Ug(C;,Cy) = C2% - CY%. /Both agents can obtain mutual benefits if they trade with each other.

[c¢] (10%) Due to financial crisis, people worried about their future income and thus increased their savings.
As a result, the commodity markets shrank and.more workers lost their JObS [Hmts you mlght
need two diagrams to completely describe this staternent. Do NO’I ussv«the IS-LM d‘[agram ]
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